Plot of Hitomi Attitude Accuracy (STT ON/OFF)

- Image position Ver. 5.3 1 6/] 2/06
- stability

- variation (1-sigma) of median 50 percentile (python “media_grouped”) at every 300 sec (crab 60sec)
exposure

- criteria: photon Number > 50 at each exposure (IGR_J and RXJ : photon Number >15)
. accuracy
- image center determined by fitting with 2-dimensional Lorentz fitting at total exposure
- offset from simbad center to above center
. Data : DET (non ATT corrected) and SKY (ATT corrected)
- plotted at (SAT-X) and -(SAT-Y) coordinate
- 4 pattern
. 1: STT-ALL (containing patterns 2, 3, and 4)

- 2: STT-QV (equivalent to "STT available" in Hitomi-memo 2016-001)

position error at each exposure

- 3: STT-CTL (equivalent to "STT controlled" in Hitomi-memo 2016-001)

- 4: STT-OFF (equivalent to "STT unavailable in Hitomi-memo 2016-001) Perseus

_ _ _ N132D
- Comparison of 3 data/attitude file IGR J
- Istrelease data and ATT (“8/17 in this document) RXJ

G21.5

RXJ
- 3nd release data and ATT (*12/E” in this document) Crab

. 2nd release data and ATT (“9/E” in this document )
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Summa 'y (1) ok 2na AT (0724 releases

SKY Stability

Stability: median
Accuracy: 2d-lorentz

SKY Accuracy (simbad)

Target

Seq ID

100040010

100040020

8/1
STT-
ALL

8/1
STT-
Qv

8/1
STT-
CTL

8/1
STT-
OFF

9/E
STT-
ALL

=S
e
m
m

9/E
STT-
Qv

9/E
STT-
CTL

9/E
STT-
OFF

10.3”
12.77
12.17

m

8/1
STT-
ALL

8/1
STT-
Qv

8/1
STT-
CTL

8/1
STT-
OFF

o/E
STT-
ALL

ENE

9/E
STT-
Qv

9/E
STT-
CTL

9/E
STT-
OFF

10.8"
14.47
14.5"
23.6’

ERE DRSS
Ear
Ear
3
o Lo Las Lo

A\ : short exposure because of STT-OFF



8/1: 1st ATT (8/1 release) Stability: median
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SKY Stability SKY Accuracy (simbad)

Target SeqiD 8/1 81 81 81 12/E 12/E 12/E 12/E 81 81 81 81 12/E 12/E 12/E 12/E
STT- STT- STT- STT- STT- STI- STT- STI- STT- STT- STT- STT- STI- STT- STI- STI-
ALL Qv CTL OFF ALL Qv CTL OFF ALL QV CTL OFF ALL QV CTL OFF

Rk ar ans
Cararans
Earanrane
A arrars
——

A\ : short exposure because of STT-OFF

=N
Ear
o v
A

o1 »
LO O




O/E: 2st ATT (8/1 release) Stability: median
DeteCtOr (STT—AI—I—) 12/E: 3rd ATT (12/E release) Accuracy: 2d-lorentz
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